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o ck 24 (N/mm?)

FORUMS8
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SD345
35.00 ()
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20.000 21.000
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Kh 0.15
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[2]

1.9
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1.11

(m

(KN/m?)

(m
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(kN/m?)
(m m
1 1.900 00 10.000 10.000 o |o |o
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0.000 23.333
25.772 17.500

0.000 ( )

0.000 ( )

FORUMS8




(KN/m?)
0.000 0.000
0.000 0.000
1.12
1.13
1.13.1
CB  (kN/m%) 0.000
tang 0.700
1.13.2
c (KN/m*) 20.000
[0} () 35.00
(a B)
A -0.333
v -0.333
g -0.333
m (kN/m®)
D¢ D*¢ A Y 2
1( 1) 1.000 0.000 20.0000 20.0000
2( 1) 1.000 0.000 20.0000 20.0000
2) 1.000 0.000 20.0000 20.0000

FORUMS8



1.14

1.14.1

1.14.2
o

D

2)

Ds (m)
D¢
Y (kKN/m*)
Y 2 (kN/m*)
€s B
@m (kN/m?)
1/6 1.500 3.000 600.000
1/6 1.500 3.000 600.000
1/3 1.200 2.000 900.000
B (m)
€s (m) e; My V
M; (kN.m)
% (kN)
(N/mm?)
0« 0« T a T«
1.00 8.000 180.000 0.390 | 1.700
1.00 8.000 180.000 0.390 | 1.700
1.50 12.000 300.000 0.585 | 2.550
(N/mm?)
O c O s T a T 2
1.00 8.000 180.000 0.390 | 1.700
1.00 8.000 180.000 0.390 | 1.700
1.50 12.000 300.000 0.585 | 2.550
T al
T a

(m

FORUMS8



2
2.1
@
D
1
2 3
2)
® Vi Xi | viovi
=03 ] ] 1 1
x x vim) Xi Yi
1 0.500x 4.500x  1.000 2.250 | 0.850| 2.750| 1.913|  6.188
2 1.100x 0.500x  1.000 0.550 | 0.550 | 0.250 | 0.303| 0.138
3 1.900x 0.500x  1.000 0.950 | 2.050 | 0.250 | 1.947 |  0.237
5 3.750 4.162 |  6.563
XG > Vi Xi Vi 4.162 3.750 1.110 (m)
Y6 = Vi Yi zvi 6.563  3.750 1.750 (m)
)
1
—
|
|
|
|
|
|
I
I
| 1
I
|
|
|
|
|
I
el
|
. -
2)
® Vi Xi | Vi vi
x x Vi(ma) i vi 1 1 1 1
1 1.900x 4.500x  1.000 8.550 | 2.050 | 2.750 | 17.527| 23.513

FORUMS8



(m o o
< < vi(m) % v Vi Xi Vi Yi
> 8.550 17.528 23.513
XG > Vi Xi > Vi 17.528 8.550 2.050 (m)
YG Z Vi Yi Vi 23.513 8.550 2.750 (m)
2.2
@
11 2
W Y V X
(kN) (m
24500 x 3.750 91.875 1.110
[2]
W Y V X
(kN) (m
24.500 x 3.750 91.875 1.110
H W kh Y
(kN) (m
91.875 x 0.15 13.781 1.750
@
11 2C 1
1)
(m (m
v(m) X Y vI(m) X1 Y1
( 8.550 2.050 2.750 0.000 0.000 0.000
(m)
vu(m) Xu Yu
( 8.550 2.050 2.750
Vu vV Vi
Xu v X VI XD) Wu
Yu v Y VI YD W

FORUMS8



Wu Vu Wi Vi
(kN) (kN)
( 8.550 x 20.000 171.000 0.000 x 21.000 0.000
W X
Wu WE | (Wu Xu WI XD)/w
(kN) (m
( 171.000 2.050
[2] «( 2
1)
(m (m
V() X % VI(m) X1 Vi
( 8.550 2.050 2.750 0.000 0.000 0.000
(m
Vu(m) Xu Yu
( 8.550 2.050 2.750
Vu vV Vi
Xu v X VI XD) Wu
Yu v Y VI YD) Wu
Wu Vu wi 1
(kN) (kN)
( 8.550 x 20.000 171.000 0.000 x 21.000 0.000
W X H v
Wu WE | (Wu Xu wl XD/w W kh (m
(kN) (m (kN)
( 171.000 2.050 171.000 x 0.15 25.650 2.750

FORUMS8



©)
1 2¢C v
(m (kN.m)
Ni Hi
(kN) (kN) Xi Yi Ni  Xi Hi Vi
91.875 0.000 1.110 0.000 101.981 0.000
171.000 0.000 2.050 0.000 350.550 0.000
262.875 0.000 452 .531 0.000
[2] C 2
(m (kN.m)
Ni Hi
(kN) (kN) Xi Yi Ni  Xi Hi i
91.875 13.781 1.110 1.750 101.981 24.117
171.000 25.650 2.050 2.750 350.550 70.538
262.875 39.431 452 .531 94.654
2.3
11 2C 1
Xp 3.000 m
yp 0.000 m
H 5.000 m
a 0.000 °
y s 20.000 KN/m?
(0} 35.00 °
o) B 0.000 °
wi 10.00 ° 85.00 °
(w) w ®
hw 0.000 m
W(KN)
w(C) P (kN)
61.00 138.577 0.000 27.715 166.292 81.106
62.00 132.927 0.000 26.585 159.512 81.275
63.00 | 127.381 0.000 25.476 | 152.857 81.275
w 62.00° P 81.275 kN
Wesin(o—¢)
P =

cos(m—d)—oz—ﬁ)
159. 512X sin(62. 00° —35.00° )

cos(62.00° —35.00° —0.000° —0.000° )

81.275 kN

FORUMS8
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Ph P cos(a &) 81.275x cos( 0.000°

Pv P sin(a &) 81.275x sin( 0.000°

0.000° ) 81.275 kN

0.000° ) 0.000 kN

X Xp Ho tana 3.000 1.667x tan0.000° 3.000

y yp Ho 0.000 1.667 1.667 m

m

14. 988°

,_
[2] «C 2
Xp 3.000 m
yp 0.000 m
H 5.000 m
a 0.000 °
AR 20.000 kN/m®
0} 35.000 °
B 0.000 °
6 tan™kH tan™0.15 8.531°
sin¢ +sin(6 +A—5)
6 = tan
1—sing *cos(0+A—3)
. sin35.00° Xsin(8.531° +14.988° —0.000° )
- 1—sin35.00° Xcos(8.531° +14.988° —0.000° )
25.772°
sin(p+0) sin (0. 000° +8.531° )
A = sin'——— = sin’ - - =
sin ¢ sindb. 00

Wi 10.00 °

85.00 °

FORUMS8
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@) 0 ®
hw 0.000 m
WCKN)

() P (kN)
50.00 | 209.775 0.000 0.000 | 209.775 86.207
51.00 | 202.446 0.000 0.000 | 202.446 86.244
52.00 | 195.321 0.000 0.000 | 195.321 86.132
w 51.00° P 86.244 kN

W/ cosB *sinflo—¢+8)

cos(o—¢p—a—190)
202. 446/ cos8. 531° Xsin(51.00° —35.00° +8.531° )

cos(51.00° —35.00° —0.000° —25.772° )
86.244 kN

Ph P cos(a &) 86.244x cos( 0.000° 25.772° ) 77.665 kN

P P sin(@ d) 86.244x sin( 0.000° 25.772° ) 37.498 kN

X Xp Ho tana 3.000 1.667x tan0.000° 3.000 m

y yp Ho

0.000 1.667 1.667 m

FORUMS8
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[y 2¢ b
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| |
) |
) |
) |
) |
) |
[ B
) |
) |
) |
) |
S I
r 1
! [
b -
(kN.m)
NeGN) G ) Yom o M N X M HeY
262.875 0.000 1.722 0.000 452.531 0.000
0.000 81.275 3.000 1.667 0.000 135.485
262.875 81.275 452.531 135.485
[2] «C 2
P
|
| |
| |
| |
| |
| |
| |
| |
| |
| |
| l l—
| |
| |
| |
| |
| |
| |
| |
| |
_— T
! I
b -
(kN.m)
Ne (kN) Hi (kN) X (m) Yo m [ Me Ne X M HoY
262.875 39.431 1.722 2.401 452.531 94.654
37.498 77.665 3.000 1.667 112.494 129.468
300.373 117.096 565.025 224.122
N, Ho M,
(kN) (kN) (kN.m)
2( 1) 262.875 81.275 317.046
( 2) 300.373 117.096 340.904

FORUMS8
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(kN)
(kN)

(m

)
Ne N
He  Ho
M. No B; 2.0 M, (kN.m)
B, 3.000
|
Ne H. M.
(kN) (kN) (kN.m)
2( 1) 262.875 81.275 77.267
( 2 300.373 117.096 109.656
n (5.000m)
Ne H, M.
(kN) (kN) (KN.m)
2( 1) 1314.375 | 406.375 386.333
( 2 1501.865 |  585.481 548.280

FORUMS8




2.5

- 14 -

2.5.1
4 = SMr— XMt
Y
d (m
> Mr (kN.m)
> Mt (kN.m)
>V (kN)
B
e = ——d
2
e (m
B (m), B 3.000
e. B n
€. (m)
n
2 Mr 2 Mt 2V d e e.
(kN.m) (kN.m) (kN) (m (m (m
2( 1) 452 .531 135.485 262.875 1.206 0.294 0.500
2.5.2
F= zV. u +CB *B
) SH
>V (kN)
T H (kN)
V] , b 0.700
Cs (kN/m?), Cs 0.000
B (m), B 3.000
= V(KN) % H(kN) Fo Fa
« 2 300.373 117.096 1.796 1.200
2.5.3
1) 1/3
_xv le6_e
q; B B
_ V[ _8e
Qs B ( B )

FORUMS8
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2)

22V
3+ (B/2—e)

qi =

2V

[t 2 b

1. 206
0. 2p4

1. 500

9ET 681
—
PIT 9¢

2.5.4
€))

2/3

(m), B 3.000

(m

(kN)

(m
B

(KN/m?)

gmin gmax

3.000

36.114 139.136

600.000

m

(KN/m)

Ds D¢

Y

Y 2

q=y Ds (kN/mZ)

1.000 0.000

20.000

20.000

20.000

Y1

ck rceN, -+

S+ «

(kN/m?) ¢

(kN/m?) g
(m*)

(m) B
(m

3.000

cq-N,-

20.000

Yy 2Dt

(m

a
B. L 1
(m L

1Be

5.000

1 0.3B. L
L 1

K

1
Sq+5"y1' B .BE.N“/.S“/

(kN/m?)

(KN/m®)

B

(m) B.

B 2es

1 0.4B. L

1 0.3D%¢

B.
(m

FORUMS8
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Ne N, N,
(0} tan@
0 () o 35.00
Se S¢Sy S. 0.794
S (€)' S¢ @) S @)
AV oy
A -0.333 v -0.333 -0.333
¢ c C GCo 1 c’ 10
Co 10 (kN/m*)
a 9 q G 1 q 10
g 10 (kN/m?)
B" B Be Bo 1 B”
B 1.0 (m)
tan6 Hb v
Ho V (kN) (kN) N " N B ()
( 2) 0.390 117.096 300.373 | 18.590 | 12.934 | 6.432 2.270
Qa s N
Hb (kN)
v (kN)
Ja
n
K 2 Qs 4 2
a B S, S, (KN/m?) (KN/m)
( 2) 1.136 | 0.818 | 1.000 | 0.794 | 0.761 631.568 315.784
@
Qa Ae qa
A (m)
0 (kN/m)
0- \ Q-
A. () (kN/m?) (kN) (kN)
( 2) 2.270 315.784 300.373 716.788

FORUMS8
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2.6
2.6.1
=10
.y 1.100
(kN.m)
M.
Mrd -
Yo
(kN.m)
(KN.m)
Msd
Yo Vi
M (KN.m) MoCkN.m) | MCkN.m) M:a
452.531 1.500 301.688 135.485 0.494 1.0
2.6.2

= 1.0
, Yo 1.100
(kN)
H.
Hrd =
Yh
(kN)
Hsd
H- Y n Hra Hss Yi
(kN) (kN) (kN) Hra

210.261 1.200 175.218 117.096 0.735 1.0

(kN)

FORUMS8
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2.6.3

Vsd < 1 O
v Vrd = ’
Y i > Yo 1.100
Vi (KN)
Ve
Vrd ==
Yo
V. (KN)
Vo
Ve (KN)
Vsd
Y v Vi
V.(kN) Veo(KN) Vaa(kN) Vad
2) 1433.576 1.500 955.717 300.373 0.346 1.0

FORUMS8
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3
3.1
3.1.1
@
1
r_ ________ 1
| I —
@
(m)
% % Vi) g vi Vi Xi Vi Yl
1 0.500x 4.500x 1.000 2.250 | 0.250 | 2.250 0.563 5.063
> 2.250 e 0.563 5.063
XG > Vi Xi > Vi 0.563 2.250 0.250 (m)
YG > Vi Vi > Vi 5.063 2.250 2.250 (m)
3.1.2
@
[ 1
W y %
(kN) X (m)
( ) 24.500 x  2.250 55.125 0.000
3.1.3
[ 1 b
Xp 0.250 m
yp 0.000 m
H 4.500 m
a 0.000 °
Yy S 20.000 kN/m?®
0] 35.000 °
o 2 30 23.333 °
Wi 10.00 ° 85.00 °

FORUMS8



- 20 -

(w) ) )
hw 0.000 m
W(KN)
w(®) P (kN)
58.00 | 126.536 0.000 28.119 | 154.655 60.430
59.00 | 121.674 0.000 27.039 | 148.713 60.491
60.00 | 116.913 0.000 25.981 | 142.894 60.415
w 59.00° P 60.491 kN
Wesin(w—¢)

P =

costo—¢dp—a—20)

148. 713 X sin(59. 00° —35.00° )

cos (59. 00° —35.00° —0.000° —23.333° )

60.491 kN
Ph P cos(a o) 60.491x cos( 0.000°  23.333° ) 55.544 kN
Pv P sin(a o) 60.491x sin( 0.000°  23.333° ) 23.959 kN

H 4. 500
Ho = — = = 1.500 m

3
X Ho tana xp 1.500x% tan0.000° 0.250 -0.250 m
y yp Ho 0.000 1.500 1.500 m

3.1.4

FORUMS8
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1 o
I
| |
| |
| |
| |
| |
| |
N
Lo
I
-
|
| |
| |
o
|
:___|_l ________ T
L __ 4
N Hi Xi Yi M MatMy
(kN) (kN) (m (m (kN.m)
55.125 0.000 0.000 0.000 0.000
23.959 55.544 -0.250 1.500 83.316
0.000 55.544 83.316
Xi Yi
[2] ¢ D
Ni Hi Xi Yi M MatMy
(kN) (kN) m m (KN.m)
55.125 0.000 0.000 0.000 0.000
19.603 45._445 -0.250 1.500 68.167
0.000 45.445 68.167
Xi Yi
3.1.5
@
G
1 z ,
= [EfZ : mm]
# M|
(cm) (cm’/ ) (cm®)
| — | —
| — | —
1 10.0 D22 3.871 8.00 30.968
2 - _

12.691 (cm®)

FORUMS8
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@
D .
Xt bn {As + (x—d)}=0.0
L0x%RD 5,
M
g, —
b x h x (x—d) + (h/2—4d)
*|=——)+n-As-
2 (2 3) x

d—x

O — N O¢°*
X
X (mm)
h (mm) h 500.000
b (mm) b 1000.000
d (mm)
As (mm?)
n n 15.00
e (mm)
ocC (N/mmz)
oS (N/mm?)
M (N.mm)
M N x (N/mm?) (N/mm?)
(kN.m) (kN) (cm)
1( 1) 83.316 0.000 15.186 3.141 8.000 76.998 180.000
©))
S
Tha == : é T al
b-+d
T, (N/mm?)
Sh )
(mm)
b (mm)
(N/mm?)
Sn(kN) d(cm) T . T .
1( 1) 55.544 40.000 0.139 0.390 1.700

FORUMS8
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3.1.6
@
Al
! g
= [Bf7 : mm]
1
(cm) (cm’/ ) (cm®)
10.0 D22 3.871 8.00 30.968
@
Md == Mud+ k- Mrd
Mo - (kN.m)
M (kN.m)
Mag (kN.m)
Med (kN.m)
Mrd M Mpd
Kq , k 1.000
M Mea Mra Mq
(kN.m) (kN.m) (kN.m) (kN.m)
1( 1) 83.316 68.167 15.148 83.316
Vd - Vpd_'_ k - Vrd
Vot (kN)
Vo (kN)
Vi (kN)
Vrd (kN)
Vrd V Vpd
Kq , k 1.000
\ Voo Via Va
(kN) (kN) (kN) kN)
1( 1) 55.544 45._445 10.099 55.544

FORUMS8
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®
a)
W. = a ¢
W, (mm)
a , o 0.0050
c (mm)

W= 11k + ko ks {4c+0.7(cs—([))}( (;:S“r g’csd) < W,
W (mm)
ki , ki 1.000
k, , ko 1.041
15
k=g 707
. (N/mm?*) , F'c 24.000
k3
5(n+2)
ky=———
n+38
n
Cs (mm)
¢ (mm)
0« (N/mm?)
E, (N/mm*), E. 2.000x 10°
€ e
, € " 150.000x 10°
(mm) o. a (mm)
(N/mm?) W W
1( 1) 89 22 125 74.608 1.000 0.256 0.445

FORUMS8
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b)
Vo = 0.7V
Vo = Vit k- Vy
Va = Ba* Bo* B fvcd'bw'd/Vb
Tod = 0.2T o L, fue=0.72(N/mn?)
Be = 4174 AL, Be>1.5&R5EEITL5ET 5,
B, = {100P, BL. B,>1.5&RBEAIFLEET 5,
B: = 1+ M/ M (NWi20D5HE) (EL., B.>2&LRD5GHEIT2ET 5D,
= 1+2M,/ My (N o<0D¥HE) L. B.<0L7RHELEEIF0LT 5,
Vs (kN.m)
Vo (kN)
Vi
k ,k 1.000
N", (kN)
Mq (kN.m)
MO
(kN.m)
b, (mm), bw 1000
d (mm)
P,
po A
by * d
A, (cm®)
o (N/mm?), . 24.000
Yo , ¥, 1.000
Nq Ma Mo d
(kN) (kN.m) (kN.m) (mm)
1( 1 0.000 68.167 0.000 | 400.000
Vi Ve Ve Vs 0.7V
(kN) (kN) (kN) (kN) (kN)
1( 1) 45.445 10.099 266.280 55.544 186.396
®
a)
My
Vi
Ma(KN .m) M. (KN ) Maa
( 2 117.248 339.116 0.380 1.0

FORUMS8
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b)
Va
i — = 1.0
Ty,
Vyd Vcd + Vsd
Y i > Yo 1.100
Vya (kN)
Ve (kN)
Vs (kN)
Vcd: Bd.BD.Bn. fvcd'bw'd/’yb
fvcd g O. ng’ od 'fﬂ]\/\ fvcdgo. 72 (N/m.mz)
Be = 417d AL, B> 1.5EAAEEFLET3,
B, = #100P, HL., B, >15L7%0851X1.5275,
B, = 1+ M,/ My (WyZ0DFE) HL., B.>2&55EEIF2ET 5,
= 1+2M, My (N <ODEGE) fBL, B.<0&%555130L7 5,
N (kN)
Mg (kN.m)
Mo
(kN.m)
b. (mm), bw 1000
(mm)
A,
p,=
be = d
A, (cm?)
o (N/mm?), ", 18.462
Yo AN 1.560
(kN) Vs
Vd Vi,
(kN) Ve Ve Vi Via
( 2 74.031 156.401 0.000 156.401 0.521 1.0
®)
My
i — = 1.0
7 My
Y i > Yo 1.100
Mg (kN.m)
Myq (kN.m)
My
Yig
Ma(KN ) M,a(KN.m) My
( 2 117.248 376.404 0.343 1.0

FORUMS8
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[1]

4.1

0.000 m

[BAZ : mm]

4.1.1
€Y)
D

—_—————— e —

Xi

Vi

0.090

0.090

Xi
(m

0.300

Vi

()

0.300

0.300

1.000

0.600x 0.500x%

2)

0.300 (m)

0.090 0.300

Vi

Vi Xi

>

XG

FORUMS8
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4.1.2
€Y
[1]

4.1.3

[1]

1
Wy v X
(kN) (m
24.500 x  0.300 7.350 0.300
1
N = E;(ql%—qZ) - L
¥ = 2+ ql+q2
3+ (ql4+q2)
gl
g2
L L 0.600 (m)
1C D
(kN/m*)
ql P2 N (kN) X (m)
138.503 120.685 -77.756 0.307
L ]
1.263
0. 237

£0G 881
é{—:—:—gg
E_____>|
2
e

FORUMS8
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4.1.4
[y 1 b
]
) |
) |
) |
) |
| |
| |
| |
| |
| |
| |
| |
| |
| |
) |
) |
) |
) |
) |
|
r-——| =————————- 1
| L |
IS -
AANAAAMNAMAAAAAM
Frrrrrrrrrnd
[ O
b e
L
Ni Xi Mo N X
(kN) (m (kN.m)
-7.350 0.300 -2.205
77.756 0.307 23.861
70.406 21.656
[2] «C D
N Xi Mo N X
(kN) (m (kN.m)
-7.350 0.300 -2.205
70.075 0.306 21.460
62.725 19.255
4.1.5
@
+ m=
1 E
T m
(cm) (cm’/ ) (cm®)
1| — | —
2| — | —
1 10.0 D16 1.986 4.00 7.944
2 - _
3.158 (cm?)

[B{Z : mm]

FORUMS8
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@
D .
Xt bn {As + (x—d)}=0.0
L0x%RD 5,
M
g, —
b x h x (x—d) + (h/2—4d)
*|=——)+n-As-
2 (2 3) x
d—x
O — N O¢°*
X
X (mm)
h (mm) h 500.000
b (mm) b 1000.000
d (mm)
As (mm?)
n n 15.00
e (mm)
ocC (N/mm?)
oS (N/mm?)
M (N.mm)
M X (N/mm?) (N/mm?)
(kN.m) (cm)
1( 1) 21.656 8.643 1.350 8.000 73.449 180.000
©))
Sh
Tha == = T al
b-+d
T, (N/mm?)
Sh )
(mm)
b (mm)
T (N/mm?)
(N/mm?)
Su(kN) d(mm) . ..
1( 1) 70.406 400.000 0.176 0.390

FORUMS8
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4.1.6
@
+ m
! g
= [Bf7 : mm]
il
(cm) (cn/ ) (cm?)
10.0 D16 1.986 4.00 7.944
@
Md == Mud+ k- Mrd
Mo - (kN.m)
M (kN.m)
Mag (kN.m)
Med (kN.m)
Mrd M Mpd
Kq , k 1.000
M Mea Mra Mq
(kN.m) (kN.m) (kN.m) (kN.m)
1( 1) 21.656 19.255 2.402 21.656
Vd - Vpd_'_ k - Vrd
Vot (kN)
Vo (kN)
Vg (kN)
Vrd (kN)
Vrd V Vpd
Kq , k 1.000
\ Voo Via Va
(kN) (kN) (kN) kN)
1( 1) 70.406 62.725 7.682 70.406

FORUMS8
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®
a)
W. = a ¢
W, (mm)
a , o 0.0050
c (mm)

W= 11k + ko ks {4c+0.7(cs—([))}( (;:S“r g’csd) < W,
W (mm)
ki , ki 1.000
k, , ko 1.041
15
k=g 707
. (N/mm?*) , F'c 24.000
k3
5(n+2)
ky=———
n+38
n
Cs (mm)
¢ (mm)
0« (N/mm?)
E, (N/mm*), E. 2.000x 10°
€ e
, € " 150.000x 10°
(mm) o. a (mm)
(N/mm?) W W
1( 1) 92 16 250 72.068 1.000 0.311 0.460

FORUMS8
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b)
Vo = 0.7V
Vo = Vit k- Vy
Va = Ba* Bo* B fvcd'bw'd/Vb
Tod = 0.2T o L, fue=0.72(N/mn?)
Be = 4174 AL, Be>1.5&R5EEITL5ET 5,
B, = {100P, BL. B,>1.5&RBEAIFLEET 5,
B: = 1+ M/ M (NWi20D5HE) (EL., B.>2&LRD5GHEIT2ET 5D,
= 1+2M,/ My (N o<0D¥HE) L. B.<0L7RHELEEIF0LT 5,
Vs (kN.m)
Vo (kN)
Vi
k ,k 1.000
N", (kN)
Mq (kN.m)
MO
(kN.m)
b, (mm), bw 1000
d (mm)
P,
po A
by * d
A, (cm®)
o (N/mm?), . 24.000
Yo , ¥, 1.000
Nq Ma Mo d
(kN) (kN.m) (kN.m) (mm)
1( 1 0.000 19.255 0.000 | 400.000
Vi Ve Ve Vs 0.7V
(kN) (kN) (kN) (kN) (kN)
1( 1) 62.725 7.682 169.108 70.406 118.376
®
a)
My
Vi
Ma(KN .m) M. (KN ) Maa
( 2 27.222 93.189 0.321 1.0

FORUMS8
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b)
Vy
Ty,
Vyd Vcd + Vsd
Y i > Yo 1.100
Vya (kN)
Veg (kN)
Ve (kN)
Vcd: Bd.BD.Bn. fvcd'bw'd/’yb
fvcd g O. ng’ od 'fﬂ]\/\ fvcdgo. 72 (N/m.mz)
Be = 417d AL, B> 1.5EAAEEFLET3,
B, = #100P, HL., B, >15L7%0851X1.5275,
Bo = 1+ Mo/My NW.Z0DHE) HL, B.>2LD581F22T5,
= 1+2M, My (N <ODEGE) fBL, B.<0&%555130L7 5,
N", (kN)
Mq (kN.m)
Mo
(KN.m)
" (mm), bw 1000
(mm)
As
p,=
be * d
A, (cm?)
L (N/mm?), f*,, 18.462
Yo AN 1.560
kN) Vy
Vd Vi,
(kN) Ve Ve Vi Via
« 2 87.814 99.327 0.000 99.327 0.973 1.0
®)
My
LERTH
Y i > Yo 1.100
Mq (kN.m)
Myq (kN.m)
Mq
Yig
Ma(KN ) M,a(KN.m) My
«( 2 27.222 102.771 0.291 1.0

FORUMS8



- 35 -

[1]

5.1

0.000 m

[BAZ : mm]

5.1.1

€Y)
D

2)

Xi

Vi

0.902

0.902

Xi
(m

0.950

Vi

()

0.950

0.950

1.000

1.900x 0.500x

0.950 (m)

0.950

0.902

Vi

Vi Xi

>

XG

FORUMS8
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@
)

2)

5.1.2
€Y
[1]

@
[1]

Vi Xi Vi Xi
. . (m) (m
1.900x 4.500x 1.000 8.550 0.950 8.123
8.550 | —— 8.123
X6 = Vi Xi T Vi 8.123 8.550 0.950 (m)
1
Wy v X
(kN) m
24.500 x 0.950 23.275 0.950
1( 1)
1)
Vv X VI X1
(m) (m () (m
( 8.550 0.950 0.000 0.000
Vu Xu
(m) (m
( 8.550 0.950
Vu vV Vi
Xu (VX VI XI') wu

FORUMS8
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Wu Vu Wi 1
(kN) (kN)
( ) 8.550 x 20.000 171.000 0.000 x 21.000 0.000
W X
Wu Wi Wu Xu wr Xb)/w
(kN) (m
« ) 171.000 0.950
®
i 1 b
Ni Xi NI Xi
(kN) (m) (kN.m)
23.275 0.950 22.111
171.000 0.950 162.450
194.275 | —— 184.561
5.1.3
1
N = E (ql4+q2) - L
q
L
X
[11
AR EEEEE
b
) |
) |
) |
| |
| |
| |
| |
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| |
) |
) |
) |
) |
) |
) |
) |
) |
) |
b
—! e—_——— 1
N |
qL, 92, L N X
(kN/m?) (kN/m?) () (kN ™
1 10.000 10.000 1.900 19.000 0.950

FORUMS8
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5.1.4
1
N = E(ql—l—qZ) L
_ 2-ql+q2
3+ (ql+q2)
gl
g2
L L 1.900 (m)
[ 1 b
(kN/m?)
0l 02 N (kN) X (m)
49.414 105.837 147.488 0.835
L 1
! 26% 437
1. 500
=L L
A ,,,Jm:z
mulLu L
5.1.5
1 o
- II
N
) |
) |
| |
| |
| |
| |
| |
| |
| |
| |
) |
) |
) |
) |
) |
) |
o
re= pe—————— 1
A |
hNAAA A/U/W
L
[
[
[
LLaT
Ni Xi Mo N X
(kN) (m (kN.m)
194.275 0.950 184.561

FORUMS8
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N Xi M N X
(kN) (m (kN.m)
19.000 0.950 18.050
-147.488 0.835 -123.140
65.787 79.471
[2] «C D
Ni Xi M N X
(kN) (m) (kN.m)
194.275 0.950 184.561
-141.088 0.852 -120.141
53.187 64.420
5.1.6
@
+ m
) =
T m|
(cm) (cm’/ ) (cm®)
1 10.0 D22 3.871 8.00 30.968
2 - N
| — | —
r | — | —
12.082 (cm?)
&)
D .
x4 bn {As + x—d)}=0.0
K OxZRD D,

[BfL : mm]

FORUMS8
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M
o x (h x (x—d) + (h/2—d)
———|4n-as-
2 ( 2 3 ) X
d—x
[0 O
X
X (mm)
h (mm) h 500.000
b (mm) b 1000.000
d (mm)
As (mm?)
n n 15.00
e (mm)
gc (N/mm?)
oS (N/mm?)
M (N.mm)
M X (N/mm?) (N/mm?)
(kN.m) (cm)
1( 1) 79.471 15.186 2.996 8.000 73.445 180.000
(€))
Sh
T = T al
+d
T, (N/mm?)
Sh )
d (mm)
b (mm)
T u (N/mm?)
(N/mm?)
Sw(KN) d(mm) . -
1( 1) 65.787 400.000 0.164 0.390
5.1.7
@
&=
) E
[BAZ : mm]
T m=

FORUMS8
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(cm) @/ ) (cm?)
10.0 D22 3.871 8.00 30.968
€)
Md — Mpd_'_ k- Mrd
Ma : (kN.m)
M : (kN.m)
Mo (kN.m)
Mg (kN.m)
Mrd M Mpd
Kq , kK 1.000
M Moo Meg M
(kN.m) (kN.m) (kN.m) (kN.m)
1( 1) 79.471 64.420 15.051 79.471
Vd == Vpd_'_ k - Vrd
Vq (kN)
Vo (kN)
Vea (kN)
Vig (kN)
Vrd V Vpd
Kq , kK 1.000
v Vi Vi Vs
(kN) (kN) (kN) (kN)
1( 1) 65.787 53.187 12.600 65.787
®
a)
W. = a ¢
W, (mm)
a , a 0.0050
c (mm)

FORUMS8
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W= 1.1k -k -k - {404—0.7(05—(1))}(%4- g’csd) =W,
W (mm)
k. , ki 1.000
K, , ko 1.041
ky= ,15 +0.7
' .+20
f. (N/mm?*) , °c 24.000
k3
5(n+2)
ky=——
n+8
n
Cs (mm)
® (mm)
0« (N/mm?)
Es (N/mm?), E; 2.000x 10°
€ e
, € " 150.000x 10°
(mm) . (mm)
(N/m) k3 " "
1( 1) 89 22 125 71.165 1.000 0.248 0.445

FORUMS8
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b)
Vo = 0.7V
Vo = Vit k- Vy
Va = Ba* Bo* B fvcd'bw'd/Vb
Tod = 0.2T o L, fue=0.72(N/mn?)
Be = 4174 AL, Be>1.5&R5EEITL5ET 5,
B, = {100P, BL. B,>1.5&RBEAIFLEET 5,
B: = 1+ M/ M (NWi20D5HE) (EL., B.>2&LRD5GHEIT2ET 5D,
= 1+2M,/ My (N o<0D¥HE) L. B.<0L7RHELEEIF0LT 5,
Vs (kN.m)
Vo (kN)
Vi
k ,k 1.000
N", (kN)
Mq (kN.m)
MO
(kN.m)
b, (mm), bw 1000
d (mm)
P,
po A
by * d
A, (cm®)
o (N/mm?), . 24.000
Yo , ¥, 1.000
Nq Ma Mo d
(kN) (kN.m) (kN.m) (mm)
1( 1 0.000 64.420 0.000 | 400.000
Vi Ve Ve Vs 0.7V
(kN) (kN) (kN) (kN) (kN)
1( 1) 53.187 12.600 266.280 65.787 186.396
®
a)
My
Vi
Ma(KN .m) M. (KN ) Maa
( 2 117.248 339.116 0.380 1.0

FORUMS8
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b)
Va
i — = 1.0
Ty,
Vyd Vcd + Vsd
Y i > Yo 1.100
Vya (kN)
Ve (kN)
Vs (kN)
Vcd: Bd.BD.Bn. fvcd'bw'd/’yb
fvcd g O. ng’ od 'fﬂ]\/\ fvcdgo. 72 (N/m.mz)
Be = 417d AL, B> 1.5EAAEEFLET3,
B, = #100P, HL., B, >15L7%0851X1.5275,
B, = 1+ M,/ My (WyZ0DFE) HL., B.>2&55EEIF2ET 5,
= 1+2M, My (N <ODEGE) fBL, B.<0&%555130L7 5,
N (kN)
Mg (kN.m)
Mo
(kN.m)
b. (mm), bw 1000
(mm)
A,
p,=
be = d
A, (cm?)
o (N/mm?), ", 18.462
Yo AN 1.560
(kN) Vs
Vd Vi,
(kN) Ve Ve Vi Via
( 2 92.467 156.401 0.000 156.401 0.650 1.0
®)
My
i — = 1.0
7 My
Y i > Yo 1.100
Mg (kN.m)
Myq (kN.m)
My
Yig
Ma(KN ) M,a(KN.m) My
( 2 117.248 376.404 0.343 1.0

FORUMS8
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